(¢

e F e %

rlo
i

£9

§

@ (ab)? x ab = a®b®

@(a3b)2xZ—z:§
@) (-2a)? x 2b2—i:16b2
@) (207 x (2 +

2 3 51,3
® (g) X(azbz :a3l27 .
® (§)+(5) x o=

@ (ab)? x ab = a*b* x ab = a*1b*T! = a3b3
&2 2 a2 8

O (@) x g = < =g

1
® (=2a)* x (2b)* + — = 4a® x 4b* x a® = 16a"b?
a

a\? ab\®  a®> 33 a®b’3
@(§> X(?) I TED
2 2 a2 b

A 232 _ 4 g2y, 42 40
@() .<)><(ab) 16><b><ab T




2 + FAFORE 7
35
35
+
35
<39
74 )
A5
o=
rdu=y
+s] o
R
™
l_r)

@
33
0%
®
39
@
312
®
315

3+
3+
35
3x3° =
36




3. 3xty =+ (=3x%%) x 2x%y* & 75| ShAE?

1
(@)—2x4y2 @) _ﬁ ® 2)c4y2
@ —18x4y12 @ 9xy2

B

3xty + (=3x2y3) x 2x%y*
1
= 3x4y X ?2))3 X 2x2y4

= —2x%y?




@® 4x(-2)*=32 @ (-2)?x(-2)%2=-16
@(—2)2 X (—=8) = —32 @ 9x32=233

®4x(2) =4x(-8) =-32
@ (-2)?x(-2)*=(-2)*=16

® (-2)2x (-8) =4 x (-8) = -32

@9x32=32x32=3"

® (-3)x (-3)* = (-3)* =3*




A|4=7}0o]H ©
[ |2 et sta
a’+ad® <[ |=a"r =1

Wb 7-5-x =001 x =2

[ ]=a?olth.

A gle] 1 g2 24 1ol




g AL BESHE b, 9 27 (Fa>0,b>0,¢>0)

® a=1,b=12,c=

@ a:2,b:12,6‘:3

@ a=1b="T7,c=3

ax4=4,a=1
3x4=0b, b=12
ct=81,c=3




(-a?)? x (24%) x Sa' & 21k
© -5a't @ -5a°
@ 5a'° @5a11

ot

(~a?)° x (2a) x 2t

[\)

5
= a4 X 2(13 X 504 = 5a11 O]]il-.




8. (2x2y3)2x:+4x2y3 = (3y?)3 oA :

bl &et2

1>

©9

® 4xy @ 2x%y ® 3xy? @

ol
©
[\
|5
w

@y 4xty = (37
|:| = (3y?)? + (2x%y%)? x 4x%y3
_ 976

=27y° X ks

27y3
= ?

x 4x2y3




9. 20x3x5% 29 2] A7

® 8 @9 @G ou 61w

228 x3x 58 =22x3x(2x5)8 =12x 108
wetA] 1072]2] 4-o]ct.




10.

42 = gt ol x O] 27

@ 2 @4 ® 6 @ 8 ® 10

B

(22)4x+2 — (23)2x+4
28x+4 — 26x+12
8x+4=06x+12

L x=4




(@2)* % (b1)Y x ax b8 = gPHLpbo+6 — g9pld
2x+1=9, 4y+6=14

Lx=4,y=2

xy=4x2=28




12 B+ 4+DB+B+7B4+734+7

o] 7}y 09
5 of Fh27
o  or or @7 61
ﬁ+ﬁ+ﬁ+ﬁ+ﬁ+ﬁ+ﬁ_ﬁx7_#_ﬂ

49 72 72




1017} 50, Al22] 2
o7} 2b? Q1 A grAolc}. o] Z LA o] R}

D 2a2%p* @ 3ab? @4a2b2
@ b5a*b? ® 6a2b°

2b?

40a3b* = ba x 2b* x (¥=°])
(3=°])= 40a°b* + 5a + 2b* = 4a°b?




14. (-24xy?) +12xyx A = —8x%y, —8x%*y? = Bx x*y? = 2x%y & |, Ax B,
A+ BO| 3ES A2 FofH?

x X
D 4x2, —4xy* @ - —16x3y* (@)—16x3y4, A

@ 16x3y4, }% ® -16x3y*, —xy*

B )

_12;13 S A ~8x2y oA
-2y x A = —8x%y oA = 4x?
w = 2x3y o A
—8%;1)/5 = 2x3y o B = —4xy*

—-16x%y*

5o AX B = 4x? x (—4xy*)

oA+ B=4x? + (—4xyt) 4




15. 2x3x4x5x6x7=29%3x5x7 AW, a+b+c+d 2 27

@ 7 @8 ®9 @ 10 ® 1

2Xx3x22x5x(2x3)x7=2'x32x5x70|nR
a=4,b=2,¢c=1,d=10°|th
et a+b+c+d=8°lt




